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Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.
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1.

Business economics is micro
economics in character, this is so

because :

(A) It studies that problems of an

individual business unit
(B) It is related to resources
(C) It studies the market
(D) It influences on national income

The main objective of business firm

is to :

(A) Undertake a process of

production

(B) Undertake profit making

process
(C) Undertake social activities

(D) Undertake national activities
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The cross price elasticity of demand
for products Rolex and Bollix is 10.
It implies that Rolex and Bollix are :

(A) Substitutes Goods
(B) Complements Goods
(C) Independent Goods
(D) Inferior Goods

A consumer consuming two goods
will be in equilibrium when the
marginal utilities is from both goods
are :

(A) Maximum
(B) Minimum
(C) Equal

(D) Zero

If a change in all inputs leads to
a proportional change in the output
it is case of :

(A) Increasing returns to scale

(B) Constant returns to scale

(C) Diminishing returns to scale

(D) Variable returns to scale

Marginal product of labour is the :

(A) Cost of employing labour for
producing one more unit of
output

(B) Change in output from using
one more unit of labour

(C) Change in revenue from selling
one more unit of output

(D) Change in revenue from using
one more unit of labour
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Match the following :
List I
(@) Total cost
(b) Marginal cost
(c) Average cost
(d) Average variable cost
List II
() Total variable cost + quantity
(i) Total fixed cost + quantity
(zit) A Total cost + A quantity
(tv) Total fixed cost + Total variable
cost
Codes :
(@ B @© @
A @ @ @) (o)
B) G @ G (o)
(©) Gv) @) @ @
D) Gr) @ @ @
Under which competition a firm
exercises some control over the
price ?
(A) Monopoly
(B) Perfect
(C) Monopolistic
(D) Oligopoly
In pure oligopoly there is
competition among :
(A) few firms producing identical
products
(B) few firms producing different
products
(C) few firms producing essential
products
(D) few firms producing electric
products
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10.

11.

12.

To achieve efficiency in the use

resources which pricing policy is used

by regulated Public Utility

companies :

(A) Peak-load pricing

(B) Tariff pricing

(C) Interdependent pricing

(D) Transfer pricing

The cost of retained earnings to the

shareholders is basically ..............

(A) a dividend that would be paid
to shareholders

(B) an interest that would be paid
to the bank

(C) a marginal cost on capital
invested

(D) an opportunity cost of such
funds to shareholders

The tax benefit is attracted in case

of which of the following element of

cost of capital ?

(A) Cost of equity

(B) Cost of preference shares

(C) Cost of retained earnings

(D) Cost of debt

10.

11.

12.
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13.

14.

15.

Which of the following is not a

feature of optimal capital structure ?

(A) The company should make
maximum use of leverage at a
minimum cost

(B) The capital structure should be
flexible to be able to meet the
changing conditions

(C) The capital structure should
involve minimum dilution of
cost of company

(D) The company should make
minimum use of leverage at
minimum cost

Average Investment =

Initial Investment + Salvage Value
2

(A)

Total Investment + Salvage Value
2

(B)

Initial Investment + Depreciation + Salvage Value

(&)
2

(D) (Initial Investment—Salvage Value) + 2

When the current liabilities exceed
the current assets the situation is

termed as :

(A) Gross Working Capital

(B) Negative Working Capital
(C) Temporary Working Capital
(D) Adjusted Working Capital

13.

14.

15.
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16.

17.

18.

19.

Which of the following is not a non-
diversifiable risk ?

(A) Interest rate risk

(B) Purchasing power risk

(C) Operating risk

(D) Market risk

Which of the following is not feature

of foreign exchange market ?
(A)

No existence of physical
location of market

(B) The mammoth size of the

market

()

Foreign exchange market works
on 24 x 7 basis

(D) It is not an organised market
like other financial market
Which of the following is not a
technique of hedging ?

(A) Swaps

(B) Options

(C) Futures

(D) Spot

An Indian Company can raise
finance from the American investors
by issue of which of the following

financial instrument ?

(A) American Depository Receipts
(B) Global Depository Receipts
(C) External Commercial Borrowings

(D) Promissory notes

16.

17.

18.

19.
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20.

21.

22.

23.

The current bank interest of America
and India are 4.5% and 8.5%
respectively. The present spot
market rate of exchange in US § is
T 62.10. What would be the twelve
month forward rate ?

(A) 67.37

(B) 64.47

(C) 62.10

(D) 66.10

When an observation in the data is
zero, then its geometric mean is :
(A) Negative

(B) Zero

(C) Positive

(D) Cannot be calculated

Karl Pearson’s coefficient of

skewness lies between ..............
(A) (-4 and (+)4
(B) ()3 and (+)3
(C) ()2 and (+)2
(D) (9)1 and ()1

Regression analysis uses to study .....

(A) The degree of association

between variables
(B)
(®)
(D)

The data variability
The alternative best solution

The casual relationship between

two or more variables

20.

21.

22.

23.
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STHIRT M1 YR A1 519 S e

SR 3TFH 4.5% T 8.5% T, AT
fafamer X s e Sierdrd
62.10 T. 3®. W 12 A= T
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(A) 67.37

(B) 64.47

(C) 62.10

(D) 66.10

S FHeRME A Hifsd! €9 (Data) e
s@gﬂ aﬁa W = YT 79
(A) TPRIHF

(B) 3
(C) HUFRIcHEH
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(A) (—)4 ofor (+)4

(B) (—)3 M (+)3

(C) ()2 =7 (+)2

D) (91 7o (+)1
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24. A box contains 8 white and 3 red

25.

26.

27.

balls. If two balls are drawn at
random, find the probability that

one is white and one is red.
(A) 3/55
(B) 28/55
(C) 24/55

(D) 4/55

In the context of testing of
hypothesis, which of the following
hypothesis is being tested ?

(A) Alternative hypothesis

(B) Null hypothesis
(C) Alternative and null hypothesis

(D) Descriptive hypothesis

The coefficient of correlation :

(A) varies between + 1

(B) has no limit

(C) can be less than 1

(D) can be more than 1

Which of the following factors does
not usually affect the width of a
confidence interval ?

(A) Sample size

(B) Confidence desired

(C) Variability in the population
(D) Population size

24.

25.

26.

27.
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TehT T 8 Tt 3T 3 &lel =g 3Ted.
SR M W SateR dgdn Sy
e T U] T el ST T o
g feEvaet gued wE a2
(A) 3/55

(B) 28/55
(C) 24/55
(D) 4/55

TEaed JUETA HeHid @ ierdeht
FIU TR qeAE T JEA 2

(A) Tepfers TEIdae

(B) ¥ TEIAAe
(C) <refeaen i 3= TEiaae

(D) FUERHR TEraaed

qeqaY U WUS U W|E
(A) + 1 988 sEaar

(B) wEIE wAfQl A&

(C) 1 T&m e &l

(D) 1 U ST& 3@l
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TR IRoTH T AR
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(C) SAeremeease fafasm
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28.

29.

30.

Which is a necessary but not
sufficient condition of the test of
goodness of measures ?

(A) Test of validity

(B) Reliability

(C) Measurement

(D) Test of sensitivity

Which one
statements is false ?

of the following

(A) o (alpha) is called Type-I error

(B) B (beta) is called Type-II error

(C) 1- o (alpha) is called power of
the test

(D) 1 — B (beta) is called power of
the test

Which of the following samples is not

a probability sample design ?

(A) Quota sample

(B) Stratified sample

(C) Cluster sample

(D) Systematic Random Sample

28.

29.

30.
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31. Which of the following is not a | 31 ywali A FHIEA HewaTTF AT
specific requirement for being a
successful Human Resource e TeTdehT hIoTd éllélszﬂu 91 eI
Manager ? T2
(A) Understanding of legal
requirements (A) Tagt faummen ==t 9ar< Jfedr
(B) General Management skills and
abilities (B) WM SRS hNTed F Tl
(C) Fundamental understanding of . -
other functional areas (C) ¥R FHraicHF favTm=i ESESRLE
(D) A degree in Human Resource (D) et GEEA AR 9G]
Management
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32.

33.

34.

When organisations are downsizing
the number of employees in a
particular hierarchy, this strategy is
termed as :

(A) Growth

(B) Retrenchment

(C) Stability

(D) Business

A National level hotel chain
established a plan that describes,
how top managers will be promoted
throughout the organisation
overtime, this is called as :

(A) Demand forecasting

(B) The social context

(C) Empowerment

(D) Exclusive succession

Which of the following is not a likely
factor in determining an organisation’s
compensation strategy ?

(A) The organisation’s ability to pay
(B) The organisation’s legal context
(C) Location of the organisation
(D) The

organisation’s  job

classification system

32.

33.

34.
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&‘iqdﬂdkdli AThUEaed UM HITATA

.......................

(A) FZT HRoy/far R
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TEe fafyre SemEsid Tw ged

AT ' e I

SIS ATIHR =T Fedlaoeh

I SR T — A
(A) WA JEsTgaH
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35.

36.

37.

38.

Which of the following factors can
enhance the effectiveness of
collective bargaining ?

(A) Middle level management

(B) Lateral factor

(C) Vertical factor

(D) Strong unions and effective
leadership

Which of the following theories
states that people are motivated by
existence needs, relatedness needs
and growth needs ?

(A) Herzberg theory

(B) Maslow theory

(C) Alderfer theory

(D) Vroom theory

Which of the following statements
describes business ethics ?

(A) Business ethics is cognitive
theory

(B)
(&)

Business ethics is regulation
Business ethics is related to
norms

(D) Business ethics is applied ethics
that studies moral standards
and shows how these can be
applied to businesses

Which of the following techniques is

used for determining the relative

35.

36.

37.

38.
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Y& See ka2
(A) H¥H TREE HTEIIH

(B) faxis HimmR =2
(C) 3TU =<h
(D) W FEST AN FAefl e

T eIk IV FHgTaTER ST

fasmma ST At sgedr erfwgfia
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(A) wetert fagm

(B) Hr&el g

(C) 3Teetw fage

(D) =m fagm
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(A) =aEfas Hifgan & SIS
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Aifar oA AAfaras wEs
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FEE] I T A S ?

(D)

worth of each job in the
organisation ? (A) FERE Ferm
(A) Performance Appraisal (B) #E SNES]
(B) Job design (C) =/ FeamrH
(C) Job evaluation
D faeo

(D) Job description ©)

13 [P.T.O.



39.

40.

Which of the following is not a type
of organisational development
intervention programmes ?

(A) Team Building

(B) Survey Feedback

(C) Leadership development

(D) Case-study

‘Theory Z’ describes the major
postulates of which management
practices ?

(A) Indian management practices
(B) British management practices
(C) Chinese management practices
(D) Japanese management practices

39.

40.
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WedUeh! hITT Yeh[T=AT hIAHAT
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(A) 4 fAfeet

(B) &0 AW
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41. Match the following : 41. SirEd S
Group A e ‘et
(@) Money market (@) HE SR
(b) Capital market b) YieTe IR
(¢) Primary market
(d) Secondary market (c)  TeAfEER ST
Group B (d) T=H SR
(1) Newly issued securities e '
(2) Long term financial (1) “afifad gfasdt
instruments (2) THEwA o< T@eEE
(3) Short term financial (3) Ul facia TEed
4) lslizilillr]r;itfange @) EPR HEH
Codes :

(@) b) (¢) (d) (@) b) (c) (d)
Aa o @ @@ G Ao @ @ O
3 6 @ O @ B 3 @@ QO @
© QO @2 3 @ © 1 2 Q) @
8 @ 2 @ d 3 @ @2 @

14
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42. Which of the following is included | 42. Toefl = =& WETAIHRl HE
in the definition of foreign bank ? warfase g ?
(A) A Bank having head office in (A) S IRAT geaed A foeem
India and operations abroad FRIX TeTaT
(B) A Bank having head office o
abroad but operations in India (B) sk feicRlg Sl ST SN
(C) A Bank having head office AN =T
abroad with no business in (C) ¥ geae™ facwma 15 JRam
India HIATET FRYX B AT
(D) A Bank which is established o e o n
abroad and having subsidiary (D) % BRI §@¢|IQ1¢I YA Fehdl
in India A SUhTAT 3718
43. The Reserve Bank of India | 43. uRd® e s dod i =g e
influences liquidity and interest fa<ig TOIe a79%®a Y99 2Thd.
rates through a number of operating G FE 9E e ?
instruments. Which among the N
below is incorrect ? (A) He SERRIT S
(A) Open Market Operations (B) gTeRal fasedsy (W1 TX)
(B) Repos (C) Hehel s|el
(C) Change in Bank Rates . N
(D) Distorted Bank Policy (D) = ARE
44. Which of the following can be | 44. Wecyeh! SHIE YA Faferd 3T ?
regarded as reinsurance ? o A Srertre e Y <
(A) A Ltd. has undertaken a risk in
collaboration with B Ltd. e
(B) A Ltd. has undertaken a risk. (B) 3 UM SIEH Sdeit, dr= Sei
The same risk is later PN A o
o kYA <hlel <hTATTYMETL H
undertaken by B Ltd. from A .
RS Hdal
Ltd. 3
(C) A Ltd. and B Ltd. came (C) 31 FHuHT &AfoT § FHUHT THS ST
t?gether to jointly undertake a it Hﬂ%‘«lal Sty T
risk
(D) A Ltd. has undertaken a risk (D) & U S Seerel! A TE
and cancelled E el
15 [P.T.O.



45.

46.

47.

A money market where funds are
traded up to a period ranging
between three months to one year
is :

(A) Call money

(B) Notice money

(C) Term money

(D) Liquid money

Unsecured short-term promissory
note issued at a discount by credit-
worthy corporates, primary dealers

and all India financial institution is :
(A) Commercial Bills

(B) Commercial Paper

(C) Certificate of deposits

(D) Treasury Bills

Which Act among the below is

governing specific banking function ?

(A) The Indian Coinage Act, 1906

(B) The

Act,

Bankers Books Evidence
1891

(C) The

Act,

Negotiable Instruments
1881

(D) The Banking Companies Act,

1970/1980

45.

46.

47.

APR - 50224/I1—B

5T SIS feien o Afgs O T auie
HTAGETT BT STIRIAT 318 W0

(A) NI <F T&HEH
(B) = @A
(C) smaet =

(D) A T&HH

TqUs HRHS S, WfHeh fashd i s1fed
TR Tai S I STIRRIER Shieeiedl
STUE, STeUhleiA AAfd =TI

.................

(D) TR g
EITeiTeTieh! hIvrdl hael fage st

4
[

~

9 1

T T4 w7

(A) YR 2% w1EEl, 1906

(B) wehdl SrETIEIS & H1aET, 1891

(C) T faoi@ hrEer, 1881

(D) <ifeT HUAT FEST, 1970/1980

16



48.

49.

50.

51.

Which of the following is not a

challenge faced by business

correspondents model ?

(A) High maintenance cost

(B) Small size of transactions

(C) Low telecommunication access

(D) Physical proximity and access
with customers

Which of the following is not the type

of digital banking ?

(A) Unified payment interface

(B) Internet Banking

(C) Mobile Banking

(D) Central Banking System

The cause of loss must be direct and

an insured one in order to claim for

compensation. Which principle of

insurance mean the above ?

(A) Principle of Indemnity

(B) Principle of Subrogation

(C) Principle of Causa proxima

(D) Principle of utmost good faith

Which one of the following is

controllable variable of marketing

management ?

(A) Environment

(B) Competition

(C) Consumer

(D) Price

48.

49.

50.

51.

APR - 50224/11—B

ST Ta1 8L (Business
Correspondence) WfAHMHAT eleTush]
HIET SR die o9 @rd el ?

(A) =0 SEYE IeTd
(B) =UOER T8 THI
(C) T HFEeT= HHl IqASH

(D) UTewISH «ifasw waesiss  amfo
SUTSA]

EITEeTdeRT STl i a (fesiea)
Sfehen TR ARl ?

(A) IJAPES T TAHH

B) e &

(C) HraEe sifeh

(D) whsrE SR e

TR TR STa fRRRIAT e st
TR HRU TAL 96, T o aw
famaeEmss fiv 2R ?

(A) THEH WIRY T

(B) TN d@

(C) Thew =wRU d@

(D) guiqo fovama aw

forqum SFEEIA @reiteTdshl RO

Yok TemHe ot ?
(A) THTER
(B) e

(C) UTEsh
(D) ferma

17
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52.

53.

54.

55.

A group of closely related products
constitute a .........c........ .

(A) Product Mix
(B) Product Quality
(C) Uniformity

(D) Product line

What are two ways of increasing line

and length in product

management ?

(A) Line extension and category
extension

(B) Brand extension and product
extension

(C) Line stretching and line filling

(D) Line elastic and category

extension
Which one of the following models
describes that buyer is a rational
man and his buying decisions are
governed by the concept of utility ?
(A) The learning model
(B) The systems model
(C) The economic model
(D) The psychological model
Which one of the following
represents consumer’s reference
group ?
(A) Hybrid groups
(B) Digital groups
(C) Media groups
(D) Intimate groups

52.

53.

54.

55.

APR - 50224/11—B
R i STau=a Seaee Hegrer
...................... 0 TRV,
(A) S Az
(B) St <l
(C) W&l
(D) IURA @l

SR SHEETIATAT HeYid  Seare-rst
EOLH AT S YH@ HF I ?

(A) 3ceA e fowmr g 4o fomr

(B) fo=iepd 9 3caed fasr

(C) Icqe jeren foar 9 geren gt

(D) IR YEren aaf=ehal 9 Aoft foer

e & U foes 99 SRRt ST o
i swaifioe deheaa

ST B § fawie shom HfcH <hiord 2
(A) &I A
(B) Yuedl Jfqam
(C) enfores wfaa=

(D) HEEIMETE WiawH

JEITush! IVl e e T e
yidrrere e ?

(A) Tehfld T (THiH )
(B) &g T
(C) wregH e

(D) ST T

18



56.

57.

58.

59.

The habit of the people to analyse

the information completely and

interpreting, it is called as
(A) Self-actualisation

(B) Selective attention
(C) Selective distortion
(D) Selective retention

Which of the following is not a
pricing method ?

(A) Differentiated pricing

(B) Cost based pricing

(C) Affordability based pricing
(D) Leverage pricing

Which of the following is not a

unique feature of services ?
(A) Heterogeneity

(B) Intangibility

(C) Perishability

(D) Durability

Which of the following metric is used

for measuring customer value ?
(A) Short-term value

(B) Relationship value

(C) Satisfaction value

(D) Customer life time value

56.

57.

58.

59.

APR - 50224/11—B
TiTehT=! W0l Afec! WG LA ST
eI SATATE gl AL T BUS ¢

(A) SACAYRIHT

(B) fergsr @&t @rer

(C) THaes fadi

(D) Treres aRom R

Grefieriesnt v fhAad Tgdr e 2
(A) faderes fema

(B) uiemm smenfid fened

(C) formmmeit emafa fema

(D) emvyHE feRad

Taren AT TR TR v
afeTe THHE HES 9 ARl ?

(A) fafauam

(B) 3€gaa
(C) -merEd

(D) <RI SR

qTehHcd HISTHIY 0TS S erien]
10T TRHETOT SO Sd ?

(A) STYHTAH T

(B) TERESY oo
(C) TMHA HEd

(D) TTEeh TS o

19
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60. Which of the following refers to a

61.

62.

situation in which a company or
brand seeks to ride on the publicity
value of a major event without

sponsoring the event ?
(A) Dependent marketing
(B) Survival marketing
(C) Ambush marketing
(D) Skill marketing

Which among the below is essential

for a valid contract of agency ?

(A) The agent need not have

capacity to contract

(B) The principal should have

capacity to contract

()

Consideration is a must for

appointing an agent

(D) The principal should not be

competent but the agent should

be competent to contract

Quality or fitness of goods for any

particular purpose has no ............ .
(A) Implied Condition
(B) Implied Warranty
(C) Express Condition

(D) Express Warranty

APR - 50224/I1—B

60. Bl TEE ®Hudl Agal o TEE

61.

62.

SfeTequl T T A ] 1 A
TR AT ST STl TATE hid 371
RIS Y WM.

(A) TUaes foatm

(B) SuLSI{de HAYET SSRUSA ook
TRUIMEI hafel UM

(C) 3Tk 2sRAY faquH
(D) HEred faguM

SR IS JTETeh! 3hIoTeT

S g B0 SeRIE IR ?

(A) WfaFeTsi HIReHd=l avdahdl
e

(B) W@ HE iR HIvAT=! &7Hdl
AU AETIH 3T

(C) wiifei=n el afawa 3
ATEITF 3R

(D) ST HIRH TG Tl WiArTemarsm
TN & STH0 A6y 378

T S e T

I IS SETAF AR ?

(A) mEd 3

(B) efeared BHT

(C) giHfy=a s

(D) gfafeea g




63.

When transfer of property in goods
is to take place at future time or
subject to some conditions thereafter
to be fulfilled, the contract is called :

(A) Contract of sale

(B) Contract of future goods
(C) Contract of specific goods
(D) Agreement to sell

63.

APR - 50224/11—B

Sieg] eIl hUAEd ST TelH
fersarehieaid S7efe =hrel fafire e
Jadal BOMY 3THd degl & el
........................... aq@, w.

(A) fas=n IR

(B) vfasaerreld aeq=n &R

(C) faftre axg=n IR
(D) fowmi=n =@

64. Non-acceptance is a valid mode of | 64. TIEic Tehr= foeTaT=T TR STeaiehd
dishonour for : B SR 99 HE TR
(A) Cheque (A) &R
(B) Promissory Note (B) @=Atam
(C) Bill of Exchange (C) g2
(D) Bank Draft (D) &R
65. Which among the following is not | 65. HUAI=al ®EATIAId  (EEATIAH)
a content of memorandum of ETeAeTdeh! IO HEgaTal FHES B
association of a company ? TEr ?
(A) Name clause (A) = STERE (AH)
(B) Liability clause (B) T YA
(C) Capital clause (C) Yisad SUaEH
(D) Preliminary clause (D) WRIYF STamEr
66. Which of the following is a | 66. WIEIEIe! U@l T @l fafast THIT
horizontal agreement ? W S ?
(A) Cartel (A) SATIR/SCAEF HH
(B) Exclusive distribution (B) wfiepa foawor Hef
(C) Resale price maintenance (C) Eﬁﬁaﬁ g =
(D) Tie in arrangement (D) AT frma <@
21 [P.T.O.



67.

68.

69.

The advantages of which forms of
business organization is
incorporated in Limited Liability
Partnership (LLP) Act, 2008 ?
(A) Private Ltd. Co. and Public Ltd.
Co.

(B) Sole proprietorship firm and
partnership firm

©)

Partnership firm and Private

Co.

Partnership firm, Private Ltd.
Co. and Public Ltd. Co.

Which section of Information
Technology Act, 2002 deals with

hacking of Computer system and its

(D)

penalties ?

(A) Section 65

(B) Section 66

(C) Section 62

(D) Section 67

Right to information is not about

seeking answers and asking

questions, this statement is very
closely related to which section of
Right to Information Act, 2005 ?

(A) Section 3

(B) Section 2 (h)
(C) Section 2 (n)
(D) Section 2 (j)

67.

68.

69.

APR - 50224/I1—B

TIifed Y= Hg-2008 =0 373

Joiiehd STOIed] e vl W=

THed WEUEl o U Bl ?

(A) TTSTl HUAT A7 HeSTeh U]
(B) Tehdl AR MU AFIGRI HEAl
(C) WFflERl &l & WSl Al

(D) WIfert §eemn, Tt st o

reSTeh
ORI ATfedl = AT e
S SSfAEM a1 Haren agel mfedr
T FHRIGI-2002 =1 HI0] TR
fase e ome ?

(A) =HTH-65
(B) =cH-66
(C) eH-62
(D) He™H-67
A=l T Bl WY SUferd 0 o

I AT L0 AT Hared el & a9
qifedi=T HTAGT-2005 =FT HI0TAT

srTeerll frifea e ?
(A) he™-3
(B) sheH-2(h)

(C) =he™-2(n)
(D) HAH-2()

22



70.

71.

72.

73.

Artistic work such as musical work,
film, poems are included under
which category of intellectual
property rights ?

(A) Patent

(B) Trademark

(C) Copyright

(D) Intangible Right

As per Sec. 288A of the Income Tax
Act, the taxable income shall be
rounded off to the nearest multiple

(A) Rs. 1,000
(B) Rs. 100
(C) Rs. 10
(D) Re. 1
Income Tax is collected on all types
of income except

(A) Income from salary

(B) Income from Lottery

(C) Agriculture Income

(D) Income from Capital Gain

As per Income Tax Act which of the
following property income is not
exempted from tax ?

(A) Income from Farm House

(B) Property income of a local
authority

(C) Income from letout of house
property

(D) Property income of a political
party

70.

71.

72.

73.

APR - 50224/11—B

HellcHer goiel hrd W9 i HTd,

fesMUe, ke I=T THEY Sifgsh 99el
o et =21 M At | I 1 s B |

(A) THEATIERR
(B) =R o=
(C) WA eI
(D) 3g¥T HAfgHhR

T FHIISITT Thetd 288 31 =1 379
e AT TTATeTeh! ShivTea] Ta=l
TSiteReAT qUiehTd HATSE HL0AT od ?

(A) Rs. 1,000
(B) Rs. 100
(C) Rs. 10
D) Re. 1

@R RV Scq=Tl STUEE STesdl
gé Yeh =] Sl H[Hhy H[h[dl
a7

(A) SR Seq=
(B) dfeurT 3ca
(C) FHIA Icq—
(D) WiEael THIEA 3=

ST, AT 310 TIeI eIk

IO ORI 309 SO e ?
(A) Iedia SURES 3
(B) TRk WITeeheon=al Huxiel Sca=

(C) wrewmEt  (Letout) fgawan

FAE o0

(D) USRI &= HOUIIR e Sere]
3=

23
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74.

75.

76.

77.

As per Income Tax Act (Refering old
regime of taxation) the special
allowance is granted to the members
of armed forces in the nature of
Island (duty) allowance in Andaman
and Nicobar and Lakshadweep
group of Islands is exempted upto
.......... per month.
(A) % 5,000 p.m.
(B) ¥ 3,000 p.m.
(C) T 6,000 p.m.
(D) T 3,250 p.m.
Tax is deducted at source U/s. 194B
and 194BB on payments in respect
of winnings from lotteries or
crossword puzzle or card games and

other game of any sort exceeding
% 10,000 is at
(A) 10%

(B) 20%

(C) 25%

D) 30%

As per provision of section 80U of
the Income Tax Act, if the taxpayers
suffers less than 40% of any
disability, then the deduction is
available upto ......................... .

(A) ¥ 1,25,000

(B) ¥ 1,00,000

(C) ¥ 75,000

(D) ¥ 50,000

For which of the following type of
transaction harber rules as per
Income Tax Act Sec. 92CB are not
applicable ?

(A) Software Development Services

(B) Information Technology
Enabled Services

Beauty Care Services
Manufacture and Export of core
Auto Components

(&)
(D)

74.

75.

76.

77.

APR - 50224/I11—B

SATART ShTEET=AT ST R \‘Hlohl{un

TSAIER AEGY, STEHH FMehER A sere)
fove vyma wfaa™
3TR.

(A) T 5,000 et Hig

(B) T 3,000 et Hig

(C) T 6,000 dit Hfg

(D) T 3,250 Tl Hig

AR A=Al hetd 194B 9 194BB
=1 3= A, TeqehlS, SN FTHREA]
WG W Feed! 9= 10,000 %.
ﬁ?{‘ﬂ SR ST TET
HiaeR &Y HUM el .

(A) 10%

B) 20%

(C) 25%

(D) 30%

61|¢I°h{ hTaedT=dl hetd 80U =1
TSR ST T@Iel FIGTere 40% e
ST YT ATA  THTATH  TTeAl
.................... EQE W @ﬁ,

(A) 1,25,000 &.

(B) 1,00,000 =.

(C) 75,000 ®.

(D) 50,000 ®.

ETTTIeh] IV e ST
FHECATTHR SRS S9d WM (95)
fersrereh 7o =hTereT shet 92CB &N B
AR ?

(A) HiFEds SHEAIHS Tal

(B) wifgdt & TASER STenfia g
(C) dicd Ieffasaen e

(D) = Wﬂﬁ?{ TAY e

it & i
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78. As per Income Tax Act, if a domestic | 78. SR TEEN HUAH HEE Haq = =1
company has exercised the option of Y SRR 3/ T S FUTe gt
Sec. .oievivinnnn. , the provisions of fROE A HEE Fe 115JB =
minimum alternative tax U/s 115JB N N

_ TS N B AT
are not applicable.
(A) 105 AB (A) 105 AB
(B) 115 BAA (B) 115 BAA
(C) 115 BA (C) 115 BA
(D) 115 JAB (D) 115 JAB

79. Reducing or negating the tax | 79. =HMEuH HHT TIIE= M0 HEH=
liability in legally permissible ways R FET HY Fq] TG0 Rar =
and had legal sanction is called T S A GRS 57 TRV
AS rrreeeeerreeeenn .

(A) =X TS
(A) Tax Planning
(B) Tax Deduction (B) =
(C) Tax Concession (C) T HaeC
(D) Tax Avoidance D) =T Wﬁﬁ

80. As per Income Tax, provision of | 80. el fafwefia Ter (fafyre) Hex
..................... 1S applicable for double TSI ShlFaT vy 3:|,.—o|'a'
taxation relief in case of specified et HUNE Faed an] en.
association.

(A) eE-90
(A) Sec. 90
(B) =etH-91
(B) Sec. 91
(C) Sec. 90A (C) wheFt-90A
(D) Sec. 95 (D) eH-95
25 [P.T.O.



81.

82.

83.

Which of the following is not a

principle of WTO ?
(A) Free Trade

(B) Non-discrimination
(C) Fair Competition
(D) Discrimination

Disequilibrium in the balance of
payment is caused by which

economic factor ?

(A) Secular disequilibrium

(B) Religious disequilibrium
(C) Uniform disequilibrium
(D) Inconsistent disequilibrium

Identify a factor that doesn’t play an

important role in attracting FDI.
(A) Laws, Rules and Regulation
(B) Administrative procedure
(C) Cost of Resources

(D) Language

81.

82.

83.

APR - 50224/I11—B

ETATTUehT ShIUd STT{deh SATIR Heea=

(WTO) o -l ?
(A) T AR
(B) fa¥gTcAs &R A &0

(C) garg @l
(D) fadeT® 4RO

The SO STIqe vl ST

YRl GUTa hid 2

(A) Ufgsh/emEd TEgeH

(B) enfieh STEgeH

(C) THM FEgeH

(D) STHEM THgeH

@refterdent foRelt geaer aavten

(FDI) SRt shiull Helld Hewelr=

Teeh TavE w0

(A) =R, a9 &

(B) WSMHehiE Hfehal
(C) HEEArET frud

(D) «ren

26



84.

Which of the following is not a

characteristic of joint venture ?

(A) Equity position held by each of
the partner

(B) Possible only with legally
incorporated entities

(C) Intent by partner to share in
the management

(D) One of the partners acquires

complete stock of the other

84.

APR - 50224/11—B

TTelTeTeh! IV TE SUHAT afiTs=s

e ?

(A) Yedsh 9IRM HHYN SE

(B) o SYHIul TUUT ST

(C) =HITUTYATd Gedsh TSIl
e Hedt

(D) TF MMIER TR Td ArieR=n Tut
AR RO Ll

85. Who proposed the theory of | 85. Weilciis! IV TS TN
competitive advantage ? fagiarn S HHd S ?
(A) David Ricardo (A) e e
(B) Bruce Kogur (B) 99 Eﬁ-’l—{
(C) Michael Gannon (©) el T
(D) Adam Smith (D) sfew f¥m
86. Which of the following is not the | 86 T TeTh IO W foamia et
level of Regional economic TN Hafad AR ?
integration ? .
(A) STehtd |9
(A) Customs union
(B) GHfesHh aTSIRUS
(B) Common market
o (C) =nfée wewmraEl Wd
(C) Economic union
(D) National union (D) T =
27 [P.T.O.



87.

88.

89.

Which of the following is not the
goal of
Responsibility (CSR) ?

Corporate  Social

(A) Ensure environmental

sustainability

(B)

Promote empowerment of

women and depressed classes

()

Develop awareness about issues

of social concern

(D)

To acquire benefits and tax

concession from the Govt.

Which of the following is not a mode

of entry to International business ?
(A) Direct exporting

(B) Indirect exporting

(C) Intercorporate transfers

(D) Personalised sales contract

Which of the following entry
strategy is adopted by Mcdonald’s in

International market ?
(A) Licensing

(B) Strategic alliance
(C) Franchising

(D) Acquisition

87.

88.

89.

APR - 50224/I1—B

S 0 o8 .

e eTdeh!  hIUTd

SHTHIT=AT | STR

qgere 3fese el ?

(A) T¥Ed YATGLOTET R e
Eaull

(B) foran 9 Suferd amien 9em iUl

(C) wrifie fear=a Hqegurenad SR

frafor &

(D) IMEAThET TMH F T Faed 9
Y01

U ShIOTT SRS SATIRIT TSt

FAOA TWEF AR 2

(A) gy fafd

(B) svet faid

(C) SHATHTT BEATALT

(D) At o FIR

WETETRT I FoeT SR Hehe Mo
AT IRASHIS T hReA ?

(A) 9@ 9gd

(B) «iUcHs: Tgehtd
(C) fa=t @k (Franchising)

(D) HURA

28
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90. Which of the following type of FDI | 90. @eiicienl faceit woael T[qavehi=a
includes creation of new assets and IV YhRTHEN ASTH SNd = S
production facility in the host anfor scueq SerE fAfit Seft S ?
country ? .

(A) YRUMTHE: Heshd
(A) Strategic alliances )
s (B) faferfiertor i o
(B) Merger and acquisition
(C) Brownfield investment (0) reiftee (Brownfield) e
(D) Greenfield investment (D) THfthee e

91. Which one of the following is the | 91. @elTerdent SIoT WIfdriees  Safer
example of representative personal e 3ER 3T 7
account ?

(A) I anfor A/ @nd
(A) Salary and wages account
(B) Loss due to fire account (B) S Wil B e
(C) Bad debts account (C) FEM & @
(D) Pre-paid salary account (D) ‘J:Of B REIRCI

92. X andY are partners sharing profits | 92. X 3707 Y Sl =it aeoi 3 : 1 41
in the ratio of 3 : 1. They admit Z YU A, Al Z @ 4,000 %
as a partner who pays T 4,000 as S IEIIEED el U3 You e e
goodwill. The new profit ratio being T Faed STUE SThH 2 0 1: 1
2 :1:1 among X, Y and Z T X, Y afor Z g8 Sauard sl
respectively. The amount of goodwill Aradife®  (BATAT) ::Lve“cﬂ 13T
will be credited to ................. . ETeeTien] I ST @éﬂ ?

(A) Xand Y as ¥ 3,000 and ¥ 1,000 (A) X e7for Y =T &334 3,000 . o7
respectively 1,000 %. feeit <
(B) X only B) X o % TGell SEd
(C) Y only (C) Y & aa foell “Ed
respectively 1,500 %. foeft smée
29 [P.T.O.



93.

94.

95.

96.

By way of .............. company can keep
its shareholders happy without
impairing the financial position and
liquidity of the company.

(A) Issue of Bonus share
(B) Issue of right share

(C) Red herring prospectus
(D) Opening escrow account

Pre-acquisition profit in subsidiary
company is considered as :

(A) Revenue profit
(B) Goodwill

(C) Capital profit

(D) Outsiders liability

The ratio of variable cost to sales is
70%. The B.E. Point occurs at 80%
capacity. Find 100% capacity sales
when fixed cost is ¥ 6,00,000.
Assume that P/V Ratio, variable cost
ratio are complement each other.
(A) ¥ 25,00,000

(B) ¥ 20,00,000

(C) T 30,00,000

(D) ¥ 40,00,000

What is the index of conservatism
in capital structure ?

(A) Working Capital Ratio
(B) Operating Ratio

(C) Price Earning Ratio
(D) Proprietory Ratio

93.

94.

95.

96.
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L. N = =~ n
FHIATAT AT M0 AT U]
foufta g9m@ 9 =ierar w9 T
IR HIMIERR TR 33 IR 2

(A) 99 9T faskt e
(B) Tk WM fashl e
(C) T T wAfed! TorwER
(D) TEH T IHSH

U g Gewfa vt e
........................ o A

(A) wegat oy

CIRINNGICRIEED)
(C) wsTell iy
(D) =&l Tefr= <Fal

fospiett =@ wfema oI 70% ST
grfa=ee fog 80% &HIe U Bid. S
feew =9 6,00,000 %. 38 T 100%
e e YU eIl 3Tehel TR
I TR G

(A) 25,00,000 =.

(B) 20,00,000 %.

(C) 30,00,000 =.

(D) 40,00,000 =.

reda=a] Edid ®alare! ey

WIeATTdshT hIvl 3T 2
(A)
(B)
©)

(D)

FETE qEad STU

qR=Te ST

fohHd THossha ST

T ST
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97.

98.

99.

100.

The Audit that is compulsory as per
the Law is termed as a

(A) Statutory Audit

(B) Management Audit
(C) Internal Audit

(D) Balance Sheet Audit
AS-15 deals with :

(A) Employee benefits
(B) Lease

(C) Construction contract

(D) Impairment of assets

Activity Based Management aims
at:

(A)
(B)

Improving general management
Eliminating non-value adding
activities

(C) Identifying costs with cost

drivers
D)

Managing the normal loss

The replacement cost approach for

97.

98.

99.

APR - 50224/11—B

HIICATTER TR STHUI-1 37 &TuTet!
................... EH@. w‘

(A) S sTehem

(B) HHIEUIhRIT &

(C) i@ia sfhem

(D) TTeeieid STeRe

AS-15 | U Hedid e ?
(A) FHAE @

(B) we @@ (Lease)

(C) TMEHM FAX

(D) Hertd ot

FEfEY U sHaeTAET e
TTeledeh! S0 3 ?

(A) HEMN IR GEROM

(B) HeA@aTE 7 IOl HIAAT HH
F0!

(C) Ufie™ arasMey gl fauifia
F0!

(D) 9H B SHaegd vl

. 100. HFE FHEA Jedeh HL0ar=l Fiaem=
valuing human resources was afteqa gftesm = faswfaa sen -
developed by :

(A) 9= (Pyle)
(A) Pyle

Y (B) 4™ fa®e (Rensis Likert)

B) Rensis Likert .’
(B) Rensis Liker (C) S=re diedd (David Watson)
(C) David Watson
(D) Te& (Shultz)
(D) Shultz
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